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WEST BENGAL STATE UNIVERSITY

B.A. Honours 1st semester Examination, 2018

PHIACORO1T-PHILOSOPHY (CC1)

HISTORY OF WESTERN PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. &far g s FY P [ T
Candidates should answer in their own words AFPERITI [0S I T ST HFANT T
and adhere to the word limit as practicable. a7 FRE!

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any two from the rest.
SR 32 R &t A | SRR -l 7P evae Ted we)
1. Answer any five questions from the following: 2x5=10
FrafoRe @it Ai5f ovwa Baa wes
(a) Which Philosophers are called ‘The lonians’ and why?
I wfaeCed ‘SRR el 2 @R (S 9
(b) Who are Sophists?
@ v @t 9
(c) What are the characteristics of true knowledge, according to Plato?
(2o e, Teidfeitg EfErefE Fi o
(d) How does Aristotle define ‘matter’ and ‘form’?
w1505 FrONE TAMT 6 “SRF -4 TRt W 2
(e) How many types of ideas are admitted by Descartes and what are they?
S T 2 IRl AT a9k (refer 6 6 2
(f) What does Spinoza mean by ‘modes’?
‘e 3l ‘R eire e F R 2
(g) What is the ‘Law of Sufficient Reason’ as admitted by Leibnitz?
szafTe qge e gfoa et Fi e
(h) What is law of contradiction according to Leibnitz?
SEafoE Telie FRCReT FEs 9 ¢

(i) What is an “attribute’ according to Spinoza?

Pojrarenia site ‘@ F 9
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(j) What is Eleatic School?

Z

frsfefRe @-ci 4f5 avds Teg wies

(a) Explain the Philosophical View of Anaximenes.
SRR WA Tedam i )

(b) What does Descartes mean by ‘Criterion of Truth’?

SRl SR 6T B @RI 9

Answer any fwo questions from the following:

(IS FETOR N’ &I F IR ?

(¢) Explain the distinction between the three levels of knowledge as admitted by

Spinoza.

Pl T ite o 2eia B AN T FA

(d) Explain Leibnitz’s doctrine of ‘Pre-established harmony’.

1024

aRafae od-afede e T F1

Briefly discuss Aristotle’s objections against Plato’s theory of ideas. Discuss, in
this connection Aristotle’s ‘“Third Man’ argument.

2o Tifered Rara Wik Sefeef wrwet Srad 391 93 ePe Sifeose
WG GO N -IE S I

How does Descartes arrive at his principle “Cogito ergo sum™? Can it be regarded
as the foundation of his Philosophy? — Discuss.

IS el o ot o7, wroad Wi wify” «2 @b wifkes s ¢ @b [
wla Wit fefeaes siof a1 W ¢ — SLA T4

How does Spinoza define ‘Substance’? Explain, following Spinoza, how
substance is related to attributes.

Poare IR T TRl e ¢ PAFIGIE SepRe F@ TR T SR T4
BIUSISEN

Explain in brief, Leibnitz’s doctrine of Monads. How many types of monads are
recognised by him and how does he explain their relationship?

BT TG FREHCH G F91 FABIE TS I WA FIPE ICARA GR
FONRE 31 OItwd F77E I IR ?

X

5x2 =10
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8+7
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 1st Semester Examination, 2018

PHIACORO02T-PHILOSOPHY (CC2)

WESTERN LogGic-I
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2NfeF Fma wrg w’ ’ﬁﬁ?ﬁ fc e
Candidates should answer in their own words AT [T O I FET AT T
and adhere to the word limit as practicable. Cex I

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

eleRe @-t vl e Tea nies

(a) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram:

Women and only women are tolerant.

feare aRioee 3am AT I 3 (Swibrga T e 42
[N QR FIETIG FANS FZAAE |

(b) What is the negation of a tautology? Why?
@3 ¥ AR [Reem 13 18 34 9

(c) Distinguish between a truth functional compound statement and a non-truth
functional compound statement.

eI (TN AP S ST (TN AT Ny Ay 91

(d) Give logical equivalence of the proposition 4 5 B in terms of ‘- and ‘~’
‘4> B’ 93509 (TS I 6+ 7S - 6~ 7|

(e) What is existential fallacy?
FGFS! (M1F P 0 2

(f) What is counter example? Give example.
4 {28 P 0 2 TRIZA WS |

(g) What is Conditional Proof? Explain with example.
SAIFfFE 2flel “1mfS BT e BRIZIPTR 4| 4|

(h) Give one distinction between Rules of Inference and Rules of Replacement.

AT I @ AfSHI#HTR a3 W 43 AR (rve |
(1) If ~ p o g =F, then determine the truth value of p=gq.
qﬁ*—qu:F EXRGIC paqaﬁﬁsf@?ﬂﬁéﬁq?@!

1074 1 Tum Over



CBCS/B.A./Hons./1st Sem./Philosophy/PHIACOR02T/2018

2. Answer any fwo questions from the following: 5x2=10
forsferie q-cteal 715 aivta Bed wies
(a) What is a “Null class”? What is its importance in the Boolean interpretation of a 5

categorical proposition?
Hare G N 9 FRCerE 0T I W 4T @FG I 9

(b) Determine whether the following statement forms are tautology, self-  2.5+2.5
contradictory or contingent by means of truth table:

@B polp>(g-~9)]
i) [(p-advEp~9l=(p=9)
AP ALY Neoe WA Tos379), Fos iyt 7t wisifes o R 3=
@ p=2[p>@-~9]
(i) [(p-g)vi~p-~ql=(p=9)
(c) What are the differences between exclusive disjunction and inclusive disjunction? 5
oA 3R SfPRR “S—Er- ML orie |

(d) Use the method of Indirect Proof to verify that the following statement is a 5
tautology.

A=[Av (A4-B)]
NAT 2N Hafoa MR @wd T (@ Ffiie 3 gesser)
A=[Av(A4-B)]

Answer any fwo questions from the following 15%x2 =30
frsfeife @-cieat 76 elceia e nie
3. (a) Test the validity of the following arguments by Venn diagram. 5+5
ceHibeaa ARIry Fefie 3fea el Aok 391
(1) No snakes fly.
Some snakes lay eggs.
So some creatures that lay eggs do not fly.
CIRG % 6Ty A
G (I 31} O #Aig |
HEAR (I I &7 Tl O #A1S, ot ers i)

(ii) Where there is smoke there is fire, so there is no fire in the basement,
because there is no smoke there.

(AICAR, 4N CIRICAR 3%, AR GIFHI0S A% (73 Fe (I 43 (21

(b) Test the validity of the following argument by truth table method: 3
e ARy fnfaiie yfea et o o4
A>D(BvC)
~Bv~C
O g 1
1074 2
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4. (a) Why is truth tree method called a decision procedure? 3
FOPNA Aa O (e fef oFafS T 21 9
(b) Use truth tree method to determine whether the following propositions are 3+3
consistent:

(i) We shall swim even if it rains, we shall swim.

(i) A>B&C), (BvC)—>D

O 2 (S s $Ca Ao Wwaesfer Sy [t Kol w2
(i) @ Her wibea afte 3 27, SRl Hor F6el

(ii) 4->B&C), (BvC)>D

(c) Determine whether the following statements are tautologous or not by using truth 3+3
tree method:

(i) A—[(4— B)— B]
(i) P[P (Q&-Q)]
FePiiA “afed it Mo AFre e Fosne; a1 (rates
(i) A—[(4-> B)— B]
(i) P—>[P—->(Q&-0Q)]

s, Construct formal proof of validity of any three from the following arguments: 5x3 =15
(Do not use C.P. or I.P.)

e @-@im a6 3fea sistasts (Rae! 2 9 (C.P. A L.P. I3 34 W
L)

(i) FoW [..(F-8)oW

(i) (AvB)>(C-D)

~C [ ~B
(iii) (RvS8)o(T-U)
~Ro>V >~V)
~T ..~V
(iv) Socrates is a philosopher. Therefore, today is Monday or today is not
Monday.

N e T | HSAR SN (IR SR SIS SN 74|

6. (a) Explain the method of Indirect Proof as a method of proving argument. 3
1 e Aafosee “Iar e s R F)
(b) Use the method of Conditional Proof to prove the validity of the following 4
argument:
A5 (B> C)
Bs{€C=.D) /:.AD(B> D)
iifer el ofen MRIy fafEe Feba (et amd T
AD(BoC)
B> (C>oD) L AD(B>2D)
1074 3 Turn Over
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(c) Use the method of Indirect Proof to prove the validity of the following argument:
(~X-Y)oZ
(Y oZ)oU
~X fal
AT e “aion MR e e st et 32
~X-Y)oZ
X'SZy=0
~X /.U

(d) Prove the invalidity of any ome of the following arguments by the method of
assigning truth values.

FOTE] Al mfed HRI RS -l @@ Ifeq sitawot et 392

(i) If Mita is intelligent and studies hard, then she will get good grades and pass
her courses. If Mita studies hard and lacks intelligence, then her efforts will
be appreciated and if her efforts are appreciated then she will pass her
courses. If Mita is intelligent, then she studies hard. Therefore, Mita will
pass her Courses.

i el Jfas! 27 3R R ~IGI! FR ©R G7 SITEN 7 A 9% TP Sare
A AW frel W oA ww e (@wel 91 2 olwa R Fforwm s @™
TS 21 GR O Fforgd S W G1 WS T O G s Bel 2@ T
firel gfansl 20 oizte 1 AE Aot F 1 JeAR fiet e T8l 71

(i) So>T>oU)
VSWo0)
TV -W)
~{T-X) /:.5=U.
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